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Both have no permission to store — 7179 KoK D179 719 K91 ;715 RD
produce; only one has

Overview

X1°27 asserts that the Xn>72 of X"2w" can follow the view of 11970 ' (that 17p
P17 IXn2 pays a ¥'"l), and when the Xn> 93 states the case of a 71 where
there is no permission 112 871 719 XY, it means that only one partner has mwA
for m7°0. The XA continues (according to our [s""wA] X07°3) that both
partners have 2 Mw? M. Our MdOIN rejects this X0 and offers a different
one.

— 29MYY NY XYY MY KDY ©9) BN 139
The text of the n'"= reads (after 777 XPX MDY 719 X7 719 XY, the R
continues) @M 719 K2 79 8% —that neither partner had a right to bring
oxen into the 7317 (only the P11 had the right to store m70 there).

mooIN continues to explain the X723 according to this X073,
— M99 PRIV PN I8N NMHD IV 2aNT

For concerning " the p°m is 211 for it is P17 9317 where he damaged

the M"%0 (the P had no permission to have his oxen there and the p1°1 had the

exclusive right to store his N1 there) -
— 0359 MY 0NY NN XYY 115 D290 MY )97 N9 XMHN DNV 3 YaN

However concerning the oxen (and any damage they caused [each other])
it is 777 in the '2"";77 since neither ox had permission to enter the 3.

mooIn rejects the other (M)RD7°:
— DYIMYY DY NI D990 2INIY 1D 1909 KDY

And our text should not read as is written in other texts; ™ ™'

'@y, that both partners had permission to bring their oxen into the 7xn.
This 07" (maintains N190IN) is incorrect.
— PN I8N AWM Y 75D NY |V 23) )9 ONY

For it were so (that they both had permission for their oxen to be in the

7x11), it should not be considered 19277 9371 (and there should be no 21’1 for 1"w).
The reason it should not be3c0nsidered a Pt axnis -
— Doy N1 YNV OY ©2INY N N AL MW VIV 1o

Since each one has permission to bring in his "W, as is evidenced
previously.

"If it would be P17 w12 1P he would be liable for a w"1, since we are following the view of 11970 .

* The prin M was not damaged pr37 MwA3, for he had no right to be in the 7xn. See ‘Thinking it over’ # 2.
? »ax responded to X7 27 since it is not DMWY NTMA it is considered AR 77w; implying that if it would be
2 WH NN it would not be a Ank 77w, [See p"nuw brought (also) in 83 77w 7"1K.] See 15 Mk 720,
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mooIn anticipates and rejects an additional possible Xnn piN:
= ©99YY XYY M929Y NIDY NTY NPPIND Y2 XD

And the X3 did not want to establish the Xn>12 in a case where both

were allowed to store n17°2 and neither was allowed to bring in 2. In
this situation the 17 would also be [according to >>aX] that it is a 7717 7% concerning 1"
(for it is not 2™ MW> NTM°A) and it is a 7"77 concerning 17p. Nevertheless the X123 did not
choose this Xnn*PIR, since it would be -

— N9 Y299 N91

Not according to ''9; for "1 maintains since it is a 7191 712 MY NIAPHRA MWYA it is
not considered 71X 77w and 1" would be Mw».

mooIn offers an additional reason why the X3 chose not to use the Xn Pk of 7121 712
DMWR K21 M07:
2997 YIUN RY NaWIDT Ty

And furthermore the syntax (of '71% 871 712 X%') does not indicate this
type of 1r where they both have m~5% mwA.*

Summary
If it is not (7772 K71 1% X?) @MW 11, then it is considered “nX 77w (if only

the pr1 has M7°9% Mw); however if is MWL omwh TR, then it is not
considered a TnX 77w (even if only the P31 has M7°9% mwM).

Thinking it over

1. How can we explain the difference between >"w1 no7% that (even) if it is
DMWY oIt TMn it is (nevertheless) considered a TR 77w and D190 NOT%
that only if it is not 2*1Ww% 777 is it considered a X 77w,

2. NMooIN maintains that where it is 2>MWY 777 PR it is considered 1"772 17
since they (both) had no permission to be there®. However by a 2"77 both
oxen have permission to be there. Why is this case not like a p117 7% where
the > 7 has no permission to be there!” (Why do we view this from the
perspective of the pri17 7w [only], and not from the perspective of the "W
Pan?!)

* When we say n11°0% 7% 91 2w a2 K91 79 XY, then in each case (by 2w and by ) it is X1 719 X9
712, by 2w literally a2 R?1 12 X2 and by Mo it is 77 82X 717 R91 712 82, However if it is m7°9% 71
07712 then by n7®d the term 719 X7 712 XY cannot apply. [It would seem that this approach is also a
rejection of the D™ Mw? 7171 712 RO,

> See MW MK 7"910.

% See footnote # 2.

" See n"n1 and vpn MK 1" .
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